EnavaAnym 1

W1=0
wW2=0

a=x1*wl + x2*w?2

MAe1dda 1

(0,0) - 0

y’ = f(a) = f(x1*wl+x2*w2) = f(0*0 + 0*0) =f(0) = 0
En =y -y’| =0-0=0

[MAew&da m2

0,1) - 1

y’ = f(a) = f(x1*wl+x2*w2) = f(0*0 + 1*0) =f(0) = 0
Ep=ly-y’|=1-0=1

[MAedda 3

(1,0) > 1

y’ = f(a) = f(x1*wl+x2*w2) = f(1*0+0*0) =f(0) = 0
Ew =y -y’| =1-0=1

[MAew&da 4

(1,1) - 1

y’ = f(a) = f(x1*wl+x2*w2) = f(1*0+1*0) =f(0) = 0
Ep=ly-y’|=1-0=1

E = En1+En2+En3+En4:O+1+1+1:3
E=3%=0,75=75%



EnavaAnyn 2

W1 =0.25
W2 =10.25

a=x1*wl + x2*w?2

MAe1dda 1

(0,0) - 0

y’ = f(a) = f(x1*wl+x2*w2) = f(0*0.25 + 0*0.25) =f(0) = 0
En =y -y’| =0-0=0

[MAew&da m2

0,1) - 1

y’ = f(a) = f(x1*wl+x2*w2) = £(0*0.25 + 1*0.25) =£(0.25) = 0
Ep=ly-y’|=1-0=1

[MAedda 3

(1,0) - 1

y’ = f(a) = f(x1*wl+x2*w2) = f(1*0.25+0*0.25) =£(0.25) =0
Ew =y -y’| =1-0=1

[MAew&da 4

(1,1) - 1

y’ = f(a) = f(x1*wl+x2*w2) = f(1*0.25+1*0.25) =f(0.50) = 1
Ep=ly-y’|=1-1=0

E = En1+En2+En3+ET{4:O+1+1+O:2
E =2/4 =0,50 =50%



Enavainyn 3

W1 =0.50
W2 =0.50

a=x1*wl + x2*w?2

[MAewada 1

(0,0) - 0

y’ = f(a) = f(x1*wl+x2*w2) = £(0*0.50 + 0*0.50) =f(0) = 0
En =y -y’| =0-0=0

[MAew&da m2

0,1) - 1

y’ = f(a) = f(x1*w1+x2*w2) = £(0*0.50 + 1*0.50) =£(0.50) = 1
Ep=ly-y’|=1-1=0

[MAedda 3

(1,0) > 1

y’ = f(a) = f(x1*wl+x2*w2) = f(1*0.50+0*0.50) =f(0.50) = 1
En=ly-y’| =1-1=0

[MAew&da 4

(1,1) - 1

y’ = f(a) = f(x1*wl+x2*w2) = f(1*0.50+1*0.50) =f(1) = 1
Ep=ly-y’|=1-1=0

E = En1+En2+En3+En4:O+0+0+O:O



